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1. Evaluate the algebraic expression for the given values of the variables. y/ _ OG-O‘I-/Z .‘@
<y forx=5andy=6 ~ 7 G v
- 4x-y forx=sandy= —)
4x-y= whenx=5andy=6.
Zo— 6 <
Answer. 14 / V S O{fl S W// f
~ -
ID; P.1.3 s
i i N,
Sy 4 . e
2. Evaluate the algebraic expression for the given value. A/ — £ /( ’1‘ f = X "’7 —
— 2 - /]
g2e 52_-_§§_+_8L.igf_x_=3--—--"f ( 7) — S ( 7 ) ui X = ;{//
7 J »;-
When x=7, x° —5x+ 8 = . (7)(7) - 5—(7) T 5: (
{Simplify your answer.) (ZL ﬁ, 3
— —
— 3 ——,Ly___
Answer: 22 ' (1
/S J< 74
~ asw
| W AV
ID: P.1.7 ﬁ 2 )
-._.__....._—-——-—'_'_'_._-_._-_ - I |

Answer: 251 iff 7(3) ’ =
879G (% 3.3) =

ID: P.1.9 519 (z7) =

When x=9, 8 +9(x—6)° =

Answ

5
The formula C = E(F - 32) expresses the relationship between Fahrenheit temperature, F, and Celsius temperature, C. Use

the formula to convert 32°F to its equivalent temperature on the Celsius scale.

e N (Y,
nswer: < __5_/ L~ B/L
Answer: 0 C= 2 / 3 )

ID: P1.17
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5. Simplify the exponential expression. 7 lt(7

(-ex“;:) (-:x%2) =< (—- G)("j) )( —7

(-exty) (-ax%") = /man 1 ad

Answer: 1g, 14,13

ID: P.2.47

_.—-—-—'—'_'_'_._'_'_-_-_'_-_'_ x\
3 — — =3 "?..-Z/_ % ——— L =
6. Simplify the exponential expression, X%.i/ )( ‘-9
-20x8y’ — )
e 4 v
= (-4X"7
-20x8y7

= {Simplify your answer, Use positive exponents only.)

5’y
Answer; -4x5y3

ID: P.2.51

7. Simplify the exponential expression. "
ey 7¢L 1) &)
() = x) = ¢ Tyu
(5x5) -2 = : (Simplify your answer, Use positive exponents only;) Z —_12
1 = S X

25x 2

Answer:

ID: P.2.55
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8. Slmpllfy the exponential expression. £€ 3

9:62 b‘s ((\W Wa’ﬁ" A é ) (( 2 iatl ) ; e

[-36a b ] i ¢ )(~5)q) [o

0 -6 | {Simplify your answer. Use positive exponfnts only.) -

9al%8 | :ff)_éf)j

Answer.  g4pd5 m ¢«
a®® /(3) ,£5C3)
= (=%
ID: P.2.61 7, $73)
&x
g. Simplify,\ 6 < /3 é) /
@ = S
a0 ="

-2%/5 ! ) 2‘ : i :
o U275 G oW (

10. Simplify by factoring. Assume that the variable in the radicand represents a positive real number and that the radicand
does not involve negative quantities raised to even powers. 3
LT
V-tz

3,\/22
\ 3 f 2z {
3/ 22 l—] (Simplify your answer. Type an exact answer, using radicals as needed.) y (7 { P

Answer: y7W 7?" J/ 7 f z

7 )
ID: P.3.69 Gn > W* 4 W
11. Evaluate the expression without using a calculator .? 39" }

343'/3 = C7) ,La/j 2’/3}‘77//(”7-
431’3 : (Simplify y(%r aniver) Q
) !

Answer: 7 7 ( J{a—,_. /
ID: P.3.85 7

e T
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12. Use radical notation to rewrite the expression. Simplify, if possible. - /‘/,M Z} 3 )(/— 2 / (// 7

Z
g2/3 /

g?i= ( 2(?/)/
Answer: 4 )
;2 '3

ID: P.3.87

.U
Y
s
z

mj[,,/e/

——

[ —

13. Use properties of rational exponents to simplify the expresswln Assume that all variables reppgsent positive numbe’rs
174 Cf Z,J /G / Ay S IR YA /
(625x%%y ') (S" §3,5
174 _ @l
(525x2%'®) (’(

(Use integers or fractions for any HW Dthe exieﬁs {;1( jpe ex? 81 (ugnotatlon with positive exponent; &2 V7
K2 (2
Answer: g5 y

5oV
e S X’QV §)<7 Ay

14. Perform the indicated operatlon.
(-3 +5x%-3x+3) + (5x° + 7% - 10x-8)
Write the polynomial in standard form.
(-7x3+5x% -3x+3) + (5x3 + 7x% - 10x-6) =|
What is the degree of the polynomial?

.

(Type a whole number.)
Answers - 2% + 12x° -13x 3 / /
’ v '// v(/ i

3
ID: P4.9 -—-7)( —f'f;( ">)(~f§ —F 5’5(—?7)( _'/OX"'G'—

40f 67 5/20/20109. 8:58 AM



15. Perform the indicated operation.

(9x® -6x% +10x- 10) - (7% -6x% - 4x + 5)

Write the polynomial in standard form.

MAI314FIESTACOREQ1414READY 149-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v]/print/math
(9@ -6x2 +10x-10) - (753 -6x% - ax +5) =
What is the degree of the polynomi‘aly

L WM \é/\LL/

Teswoetimie) 77 (g fo sk 10— TA 6 X =

Answers 2,3 1 14x~ 15

3

ID: P4.11

W, - e

16. Find the product,
=N\

(x— 5)()(2 +5x+ 25)
(%= 5)(x +5x+25)-f , | (Simplify your answer.)
Answer. 3 _ 125 X "{' S")(L‘RLZ// X '-'Z/S/ [2

ID: P.4.15 @/ < :__ﬁ\“} avis ot

n = = — -

-
17. Find the product. -,

A

S c.//
ers)(2-ecv2) = Gy -—W)( +IfX €5 x &
©@x+5)(x® -6x+2) =
{Simplify your answer.) q )( } 9{ L
Answer. g3 — 49x% - 12x + 10 o ? /( ’-—‘( Z,(%/O -
An s e/~
ID: P47

A - —_— W— — - SR ey

g

— PO o=

18. Multiply./_‘;___

(crBcrs) = )( '—/'7:(7‘ Y,( ._(L7’Z
(x+ B)(x + 9) [:! (Simplify your answer,

Answer; x2 F1Tx+72

ID: P.4.19
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19. Find tw.

=11+ 8) )(—{' b’i( —I()( 77
c-hxegy=[

S ( e W

20. Use thf.:_lf_:_OI'L. method to multiply the binomials. Z
CEaE R
(4x+5)(2x+ 1) < g% "'f' Y X '—f V4S) X '—f(

(4x+5)(2x+1) = | (Simplify your answer)

Answer: g2 4 14x + 5 X)(’l__f /V /('/.(—’ J.d‘::;—‘f)
Foo P&

ID: P4.23 o )
st N S O T ’ LR - —_—
21. Find the product. 3 5~ X - 720 X — 2.? X /6 —

(5x-4)(7x+4) =

(5x - 4)(7x +4) = :
Answer: 35,2 _ gy - 16 L Lw;
M i A

ID: P.4.25

———— e ——— e T T e L

22, Multiply usg_u_g the rule for the product of the sum and difference of two terms.

X+B){7x - -— . 4
sy = 450 — ertpedl — 3¢ =

Tx+e)7x-6)=[ ]
Foxl— 26 = ™~
A S /e "

4__—/

Answer: 49)(2 -36

ID: P.4.33

SN—
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23. Multiply using the rule for the square of a binomial.

et = () (07)
WP X egx AKX 9T

2 ‘_-_-_-_-_-_'_'_‘—‘—-\
Answer: £ + 14x + 49 / 74/;(/{/,74;5/ 7 o S Wwer

ID; P4.41 -
——  Th T ¢

24, Find the product. (gl/"FU [5—)(%2,) -

(5x+2)°
(5x+2) = (Simplify your answer.) 2, ‘5’)( —74 /0)(’%/0)(./, 9/ -

Answer: 25¢2 + 20x +4

ID: P.4.43 k __,_/_,—@/(h//

e

25. Multiply using the rule for the square of a hinomial.

(x-2)? = )(——-?) C)(”Z) -

w-22= -
Y=+ =

Answer: 42 _ 4y 4 4 T
ey T ans e
ID: P.4.45 RN

26. Find the product. ( / 2 / 6/""7) ﬂ/ £ ) e =~

(x-4)°> =

e — F () (X v =774
Answer: 3_ 122 1 4gx-64 (//V)‘///Y f’?’?f/{)

ID: P4.55 N / 57/ +/()( YXLf}Z)f —6 &

N )/"/'&/L%V/X-—(‘/\

aas Lw'/

=L __'_“‘-—-—-—.___
Tofl 67 5/20/2019, 8:58 AM
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27.. Use the EQIL method to muliply the binomizls é - % / o
(x-5y)Ex+Ty) X T - ——-30)(7 —359%

(x=5yHBx+7y)= ‘ | (Simplify your ans

Answer: gx2 —23xy - 35y°

iD: P4.69

28. Find the product.

) SY-+1
{5x +2y)
(5x+2y)2 = : )('7”(-°7/ /f)(’f 2"'7)

Answer: 2552 + 20xy + 4y° f")( _{—__10)/7 7 / Uﬂ7 ~ =
ID: P4.73 Q 2?/ '7"2{’))( /—74?73 = s
# =

‘______-_.______._

29, Find the S = _..,__________-_‘—“_H

x-y) (P raxy+y?) =

e e

(x-y) (x® + 20y +y?) =|
{Simplify your answer.)

. D s 1
Xt Xy —xy =g’ )
Anse e

Answer: xa + x2 sy~ xyz - ys

ID: P4.77

——

30. Multiply using the rule for the product of the sum and difference of two terms,
s
(8 :
EEXT Loy J TFlX g -yl
i e ——— )

(5x+2y)(5x-2y) -

(5% +2y)(5x - 2y) =

Answer. 2542 - 442 2/ o X Z,__,_ 9/ y 7 o -
ID: P4.79 S VW.

Bof 67 5/20/2019, 8:58 AM



MAI314FIESTACOREQI414READY i 49-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

e —

31, Factor the polynomial using.th& ‘greatest common factor. If the:;;' no commoan factor other than 1 and the polynomial
cannot be factored, so stite. e

Bx+28

Select the correct choice below and fill in any answer boxes within your choice.

) A. gx+28=

) B. The polynomial is prime.

Answer: A, 8x+28=| 4(2x+7)

2 ID: P.5.1
\‘H::'_‘ pp— —————— - i e ——— e e e B
32. Factor the greatest common factor fr;\lhe polynomial,
_-—'—'_.-'-FFF"J
1252 + 18x

Select the correct choice below and fill in any answer boxes within your choice.

DA 1262 +18x= /g/ ’71/8/("
) B. The polynomial is prime.

Qz (2 x_pg)
Answer: A, 12x% +18x=  6x(2x+3) |

ID: P5.3
33. Factor the given polynomial. /ﬂo ss, é/{’
x° +5x+6

Select the correct choice below and, if neces

O A x2+5x+6=

() B. The polynomial is prime. s : Wl /

C/Hc,{{
Answer: A. x2 +5x+6= (x+3)x+2)

ID: P5.17 {*Z/_?S/—/')’)
- Y F 3xrt ixr g
Y ' rex+6

G—oo

9.of 67 ———__5/20/2019.8:58 AM
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x% —4x—32

O A x? -4x-32=

") B. The polynomial is prime.

L 3 #Yx—3L
L
X =¥x=-31
L mPas G"Z')d

e 4 4 .;3) (=TSt Possibd
x2 = 11x+24 =z _

Answer: A, x° -4x-32= (x=8){x +4) '_

Select the correct choice below and, if necessa |n the answer box within your choice.
DA 2 11x+24= G( ")) (}C Y)
() B. The polynomial is prime. 7 X = 3){ ~+ V —_

Answer: A, x2-11x+24=‘ (x - 8){x -3} l { - /( /{/"(’Z/y

ID: P.5.21 OL(JU C/
36. Factor the trinomial conipletely (7 )(._{_,{ ) ( @W W

7% - 20x-3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
O A 7,2 _opx-3= {Factor completely.) 7 (}(\ ’S) -
) B. The polynomial is prime. )( —/, -

Answer: A, 7x° - 20x-3= (7x + 1}(x - 3) | (Factor completely.) 7;( ,L e L { )( —{’ ?x — 3 —

B ID: P.5.23 - - 7)1/7’___ Zﬂ,{/___’_?) -

10 of 67 5/20:2019, 8:58 AM



MAI314FIESTACOREQI414READY 149-Alfredo Alvarez htips:/ wlltemprod pearsoncmy,.com/api/vl/print/math

e S
(th% tng{ma:s' /prge /Q *J 6

Select the correct choice below and fill e es.within your choice.

QA 33%-4a-20= 3 4_/0/ A1) <
) B. The polynomial is prime. 3 A 2-'—‘7# (6\. ""/ v a. - L

37. Factor the trinomial, or state

332 -4a-20

Answer: A, 332—4a-20='(3a-10)(a+2)' 3 CLZ _ s‘cl - Z @,

ID: P.5.25 : 0{

‘_\____,—-:—'—‘—-T'_-_-_-_T_ — i —

38. Factor the difference of two squares. 2
X - 36 )( — 4 ( <

Select the correct choice below and fill in any answer boxes within your choice.

Oh -0n (9’ =(%) =
() B. The polynomial is prime. ()(-f ) (A/ D v /
Answer: A, x? -36= (x + 6)(x G)

ID: P.5.39

P
39. Factor the difference of two squares.

Select the correct choice below and fill in any answer boxes within your choice.

Gx) ‘= ()t =

(=3 ) Yo ) =
1S l»\/‘//

16x% - 9

O A qgx?-9=

() B. The polynomial is prime.

Answer: A. 16x2 -9= !(4x + 3){(4x = 3)

ID: P.5.41

Il of 67 5/20/2019, 8:58 AM
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40. Factor the difference of two squares. 7 / ]
(67— [7¢y - s N

169x° - 196y°

Select the correct choice below and fill in any answer boxes within your chonce

A 159¢2 -196y (/31) -‘(/({7/

S S I =T

Answer: A. 16952 - 196y% = (13x + 14y)(13x - 1dy) avi swt”
ID: P.5.43
41. Factor the perfect square. Q( )< BX’(__ $
2 i '
X" =-6x+9 T _C A_’ -
=X ] {

OA 2 giran (ﬁ[f3) =
B. The polynomial is Pﬁme-. )( L-" ,7 )/" %/ —~ 7

Answer: A, xz -6x+9= _(_x_-:iF - /( 'L ( '
BT X+ T
ID: P.5.51 _..—fﬂ""'__ 5{/\) (/(

ey E—

42. Factor the perfect square.

§4x2 - 16x + 1

Select the correct choice below and fill i answer boxes within your chg

O A 6ax® - t6x+1= (};:—‘7?7//()

() B. The polynomial is prime. 6 Y, )(’]_ ___-XK . X ¥ s / -

Answer: A, Bax% —16x+1= (8x - 1)2 C@

ID: P.5.65

12 0f 67 5/20/2019, 8:58 AM
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43. Factor the expression completely or state that the polynomial is prime. 3/ — 5 )( =

1
Select the correct choice below and fill in any answer boxes within your choice. /

%) —{( 0E) gGuswer

O A 33_3x=
?Facto:: completely.) 3 X ( )( — / ) ( /( —{ )

") B. The polynomial is prime. ’
< //"71‘.// \
as. {a—f b7ty

Answer: A. 3x° - 3x = 3x({x + 1)(x — 1}|(Factor completely.}

ID: P.5.65

44. Factor the trinomial completely. Z, )(L__f i }( 74 - F_
x2+ X+ v
2x° +22x+ 56 _Z(Xlﬁ‘{(;(—f&d')

Select the correct choice below and fill in any answer boxes within yo

O A 22 4+ 22x+56=
{Factor completely.)
) B. The polynomial is prime.

Answer: A, 2% +22x+56 = f_2(x +'ﬂ(x +4) (Factor completely.)

ID: P.5.67

45. Factor the expression completely or state that the polynomial is prime. 5,__ / ’c j" 6
SS— J("‘ Yo ks

5x -5x-60

Select the correct choice below and fill in any answer boxes within your choice. f( X )( __/ L)

O A 5 -5x-60=
{Factor completely.}
() B, The polynomial is prime.

Answer: A. 5x° - 5x - 60 = 5(x + 3}{x - 4) |(Factor completely.)

ID: P5.73

13 af 67
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46. Factor completely, or state that W {
L -
7X((K) = (*)) "

7% - 63x .

Select the correct choice below and fill in any answer boxes within your choice: ™
- T e (fr5) (X305 )
A 733 -gax= S

() B. The polynomial is prime. ﬁ S Lo~

Answer: A. 7)(:1 -B63x= I?x(x +3){x-3)

ID: P5.75
——— e

..a-"“’"_ =
47. -Find all numbers for which the rational expressich is undefined, If the rational expression is defined for all real numbers, so

state ,,--*”'
- b

Type the values for which the rational expression is undefined. Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

O A, (Use a comma to separate answers as needed.)

(O B. The rational expression is defined for all real numbers.

Answer: A. =2 (Use a comma to separate answers as needed.)
ID: P.6.1 e —_—

48. Find all numbers for which the rational- eXpréssibn is undet’irj_ggi. If the rational expression is defined for all real numbers,

state this. N 7 -
y+3 AN 7 - ? o

4 l
¥’ -9 (7) ~—(3) =5
Type the values for which the rational expression is undefined. Select the correct choice below and fill in any answer boxes

within your choice. j - ,g : /J (7”_ 3 ) — D

O A. {Use a comma to separate answers as needed.)

() B. The rational expression is defined for all real numbers. j e 3 — 0 O/L y —3 7o

Answer: A, 3,3 {Use a comma to separate answers as needed.) OK 7 — 3_]; 3 = 0—1" 3

gc3)

ID: P6.3
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49. Find all numbers that must be exc@ded from the doﬁ%'bf the rational expressmn

B e ——

x—3 Lk )( ’7“?(’7’657 -
x2+9x+8 Q—(-()% "{‘Y) =

Type the values for which the rational expression is undefined. Select the correct choice below and fill in any answer boxes
within your choice. o —_
y XAl =0 of KFFP=o

Q A {Use a comma to separate answers as needed.)

(C) B. The rational expression is defined for all real numbers, d ;ﬂ X% —_ a7 =0 - b7
XA~ =0/
Answer: A, | =1,-8 |(Useacomma to separate answers as needed.) 4/ P 37\

N o (L°
ID: P6.5 L}/ Gn Swe””

- ot
50{ Simplify the rational expres}B Find all numbers that must be excluded from the domain of the simplified rational
“expressiop-in-order-fer-it-tobe équivalent to the original expression, _S__ ('){,.x__ } )

5% - 15 g S (y-3) - - o
2 —6x+8 - ()< ____3) %__5) @-—3)()({’5—"3)
Simplify the rational expression. ffs— ﬂ\
x- 19 =| (Simplify your answer. Use positive exponents only.) a /l/ on 3 e

gy Wit
Find the numbers that must be excluded from the domain of the simplified rational expression in order for it to be
equivalent to the original expression. Select the correct choice below and, if necessary, fill in the answer box to complete
your choice.

x2—6x+9

) A, x# (Use a comma to separate answers as needed.)

() B. There are no numbers excluded from the domain.

5
Answers ——
x=-3

A x# 3 | {Use a comma to separate answers as needed.)

ID: P6.7

15 0f 67 52012019, 8:58 AM
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=

51. Simplﬁthe rational expression. Find all numbers that must be excluded from the domain of the simplified ratioral

expression. 6 + U@ + G) éﬁ) (?%,Q lj,.fag

2

y"+8y+12

y2 - 5y-14 Gj —{‘Z)Cj 73 (//Mi)(‘j 7) b 7/
Simplify the rational expression. Select the correct choice below and fill in any answer boxes in your chiice,
y? +8y+12 aAn 2 {"///

> = (Simplify your answer. Use positive exponents only.)
y -Sy-14 —

Find the numbers that must be excluded from the domain of the simplified rational expression in order for it to be
equivalent to the original expression. Select the correct choice below and, if necessary, fill in the answer box to complete
your choice,

O A, y# (Use a comma to separate answers as needed.)

() B. There are no numbers excluded from the domain.

y+6
-7

Answers

A y# 7,-2 (Use a comma to separate answers as needed.)

ID: P.6.11 =

52. Divide as indicated. - %((f e | Z>(—7& 7

x+4 2x+8 -
7 3 /
Select the correct choice below and fill in the answer box(es) to complete your choice. € W) [(
{Simplify your answer. Use integers or fractions for any numbers in the expression. Use a comma to separate answers as
needed.)
x+4 2x+8 er- 4 3 -
O A. . - x# —= @  oxr7
7 3 7
Xx+4 2x+8 3
O B. 7 + 3 _ , no numbers must be excluded. ﬂ -
7 e 20y )
A A x+4 2x+8 3 [——___I
. -+ 3 — — -
nswer: A, 7 3 12 X # ) }
ID: P6.23 7 ¢ 2
5 '3 -
u S
{./ M S W/
e
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53. Subtract as indicated.

4x-8 x-2

x=-2 x=2

Select the correct choice below and fill in the answer box({es) to complete your choice.
(Simplify your answer. Use integers or fractions for any numbers in the expression. Use a comma to separate answers as

needed.)
4x-8 x-2
1A, - . no numbers must be excluded.
x=-2 x-=2
OB 4x-8 x-2 :
" x-2 Tx-2° -

4x-8

- e NN AT I
Answer.: B, -2 x-2- , X

ID: P.6.37

-7 =
s -7
(9= —(x=2) _
— )(”?"-/
Fx—Y— )('('2‘ -
T L

Sx —¢

-"‘_\—|_

17 of 67 5/20/2019. 8:58 AM
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54,
Find seven ordered pairs to the equalioé x® ~6. Then Choose the graph that connects the points.

determine its graph. .-

Answers 3 7:(—3)LPG:(—/5/(;3)—'(61C;"6 = 3
oy ()t (YT P = T —2|=

9 E)=C=(Un 6= € = - e
s Yo )= (O-6 =076 = 72 o ¢
-2 L _ ()’__,6"-;("@:-——' { ___S,.—»
9 =(1)~ G (10
3 5 7 0
—

ﬂ—‘-‘d—r’_'_-- B S
N e
S (P -6 = YTeT TS
ID: 1.1.13 u.j - (3)1*__._-6' —:(3)‘3)/( . ?r-"é . 3

-
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55. <
Graph the equati y=x-5,)>etx=—3, -2, -1,01,2
and 3.

Find the following y-values. Then choose the correct graph
of the equation to the right.

X Y

Answers -8

i

ID:1.1.15

M
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56.

Graph the equation. Letx=-3, -2, -1,0,1,2,and 3. 'S
e ————— o .
y: y=4x+1
Q_/l//

x Y

-3

-2

-1

o c
0
1
2
3
Choose the graph on the right that connects the poinis -
Answers — 11 ‘ _
= = = — 51—t/
7y W) s AL ’ et
- T — /"'Z —
R G A | /
—/ {— 3

1 —_—
s Y= Ay (= —Fr [ = 3 N

o pptt-e AT T o

20 o0f 67 5/20/2019, 8:58 AM
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57 'q:.\]
Find seven ordered pairs to the equation =1 - X2, Then
determine its graph. //

o~ b

— (v

Answers -8 7"' {"" (‘—5) I
0-3 - [ —(1
| 7'& (—(= r)‘

3)F3) = [ —
[~ (V= (=%~ =3 Z27r
{——(*/)(0’ =/ = O

https://xlitemprod.pearsoncmyg.com/api/v|/print/math

Choose the graph that connects the points.

O A ) B.

7 Xl

< (—o™ |

(~(T O

2] of 67

5/20/2019, 8:58 AM
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58, ' TR N
Find seven ordered pairs for the eglation y = x> +9 using
the given values of x. Then determige its graph.

sose-the correct graph below.

X ¥ 4
-3
-2 5 5
-1 -4
0 ) C. ) D
1
- 4 40

2 /
3 2 5 3 5

:)( . 4 4

Aewers - 13 7:(~”93+7 "f’&/ﬁj%}}/—j < =27+ 9 ’Ii AV\LX}:]
"9 (Y ?7'7 7(“7—_,)4’3%2)7‘7 < 79 ﬁ@f =217
R G R A . I
"9 ) et (O = 07T (U

ID:1.1.277 f{g-);ﬁ——'l(#&)ﬁ*}% 9 = '}77‘7 @ o
72(3) 73 5<(IIDTS = 2975 =G

32 0f 67 5/20/2019. 8:58 AM
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59.
Use the graph to the right to complete the following. For the

graph, tick marks along the axes represent one unit each.

¥
B L ’)

a. Determine the x-intercepts, if any. e (O)

b. Determine the y-intercepts, if any. S

PR

B e

a. What is/are the x-intercept(s)? Select the correct choice

below and, if necessary, fill in the answer box to complete B
your choice. ]
() A. The x-intercept(s) is/are ]

(Type an integer or a simplified fraction.
Use a comma to separate answers as
needed.)

) B. There is no x-intercept.

b. What is/are the y-intercept(s)? Select the correct choice ) e S
below and, if necessary, fill in the answer box to complete = —— :

your choice. /,.../,,} A/ ux)ﬂ% = {

{Type an integer or a simplified fraction. o -
Use a comma to separate answers as e s
needed.)

) B. There is no y-intercept.

Answers A. The x-intercept(s) is/are 5 .

({Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A, The y-intercepi(s) is/are 2 .

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

) A. The y-intercept(s) is/are

D 1.1.41

S e
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60.
Graph.theequation. Letx=-3, -2, -1,0,1,2,0r 3,

-
r 4

y=-8 _
o o

Find the following y-values. Then choose the correct graph
of the equation to the right.

|I|hhl|i L

X y
-3
-2
-1
0

Answers -8

ID: 1.1.51 /
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61. Find the value of the variable that satisfies the equation. Check your solution, Answers that are not integers may be left in
fractional form or decimal form.

5x—~2=18 S—{’/L - /‘0’

What is the solution? Select the correct choice below and, if necessa irmthe answer box to complete your choice.
N 7‘/&“ 2 L
© A. The solution set is { } S'{/C
(O} B. The solution set is {x | x is a real number}.
() €. The solution set is @. /_Sii< - .‘_*_;):_
j < f/J
Answer: A. The solution set is i} @ m S W
ID: 1.2.1

62. Solve the equation. Be sure to check your proposed solution by substituting it for the variable in the original equation.

6x - (2x - 9) =41 —_—) G)(—-L;( '7“? - S‘/
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

x 7 ¢/
O A. The solution set is { } ((/ /_ .
(O B. The solution set is all real numbers. 9’1( 7 / ( 7
() C. There is no solution. 54 X — 3 a
Answer: A. The solution set is . j’)(_‘ - é__&___

ID:1.2.3 (Y,.: i

. ——— ~
63. Solve the linear equation.

Ex+5=4x+29 o
What is the solution? Select the corw and, if necessary, fill in the answer box to complete your choice.

O A. The solution setis { }. >é)/';f/{(, - XA 29 — v
(O B. The solution set is {x | x is a real number). C )( - % )(74 2 4‘

() €. The solution setis @.
Gx —7X T Yxrlr—vX
Answer: A. The solution set is {i} 2 )( — 2 < /

ID:1.2.7 22X = Z/Z’_—

0
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64,

65.

x— (2 F20~ IXT/S
Solve and check the linear equﬂgn/./_}? <{L X 57 = BX F

4(x-3)+20=3(x +5) Cr‘)(”("f/[,f/’: BX‘?‘/J'—’"J?

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { } % )( ‘:-} )("T' 7
() B. The solution setis {x | x is a real number). gé)< s };( - J )(—f 7 - 3 )<

() €. The solution set is @.

Ix = 7 -'
Answer: A. The solution set is . o h_/(/
N (Ao

D:1.2.9

——— - T e gy e S - = ~ R — ——

Solve and check the linear equation.

w| x

15mmz
T2

© A. The solution setis { R / § — "é'_(— E >( (/ C D

() B. The solution set is {x | x is a real number}.

() €. The solution set is @. /
s X —
. — Pl 2.
Answer: A, The solution set is , /

ID: 1.2.19 ,/{—7() - é_{/()-:: ")g:{[éj

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your cheice: >

26 0f 67

/(6 ) —x(2)= X3/
7o —lx = 3x

G~ K = BFX
90 T X

S - =22

S g w/

s
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66. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent

equation. ) SX+H 0 = JOXF ES R e
5x + 30 = 10(x + 3) - 5x NNFIo T SO

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A The equation has a single solution. The solution set is {

5 2
o Q‘fB The solution setls{xlxlsareai number}j_’(__fjvr,.j/ g—)(f %?%

Q C. The solution set is @.

What type of equation is this? S” )( -

XS~ 5’)"5')(

() A. a conditional equation
() B. an inconsistent equation -\)

i e 3 At Solaten R

/7%"’1 A7 j

Answers B. The solution set is {x | x is a real number},

C. an identity

ID: 1.2.61

_-_-_‘_‘_'_-—\_

= rr————— —

67. Solve the equation. Then determine whether the equation is an identity, a conditional equation, or an inconsistent

equation. /.)7 2 NC G - (f.p 2 )(
2(x+3)=4+2x 2 X+ Q,,-{;" = ¥/ x — G

What is the solution? Select the correct choice below and, if necessary, fiil in the answer box to complete your choice.

O A The equation has a single solution. The solution set is { }
) B. The  solution set.is {x | X is a real number}. 2 /( - ?x — l
&€, The solution setis@.

. Y —2X = Z,,{'—Z. ""{f?(

What type of equation is this?

(O A. an identity O — Z__\
(O B. aconditional equation /
(\_@ C. an |nconS|sten@§ﬁn

_'_,_o-""

Pk e e 05 ko Sutes,

Answers C. The solution setis @.

C. an inconsistent equation

ID:1.2.63

J’Wﬂ_ -
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68. Solve the equation. Then determine whether the equatpn is an identity, g,.conditional equation, or an inconsistent

equation, {3X rﬁ/)’—-f T G TS
13x+5=6x+5 (3 x = G

What is the solution? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The equation has a single solution. The solution set is { }.

() B. The solution setis {x | x is a real number}. /j ,(/’_ G T 6)("6 '

(O €. The solution setis @.
What type of equation is this?
) A. a conditional equation

{J) B. an inconsistent equation
) €. an identity

Answers A. The equation has a single solution. The solution set is { 0 I3

A. a conditional equation

ID: 1.2.65 -
s . —r—— OE 5}( -—-I;’—_E_-i Zj}/..j(___r__ &__ TS ST,

69. Solv:;he T:(azti:)n.m( . 0. 3)/7‘,%-/6/?0' | X1 —G
Ax+ 0. =01 (x+ ¥
0, 3')(':. Oo I)( e %

Select the correct choice below and fill in any answer boxes present in your choice.

03¢ ~0, | K= OIX—% — 0/
O A. The solution set is { ] } {Type an integer or a simplified fraction.)
(O B. The solution set s {x| x is a real number}. J. X = — v d

() C. The solution set is @. —
O, Z7< - __j_/__.

. -l
Answer: A. The solution set is . {Type an integer or a simplified fraction.) d- . a

am)u///w

ID:1.2.93

70. Write the expression in the standard forma+b 2

t-2iys1+6iy — [ 24 T (FCA
(1-2i)+(1+6i)=[ | (Simplify your answer)

Answer; 2+4| = l + V/{ \/

1D: 1.41

28 of 67 52012019, 8:58 AM



MAI314FIESTACOREQ1414READY 149-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

=
71, Write the expression in the standard forn'@gj/ ? . e
+ S A Cf —3 4 =

—

(4+5i)-(9-31) vl

4+5i)-(9-3i)= ] {Simplify your answer.) ’.4—\

Answer; —=5+8/

s’

ID: 1.4.3

[ T

72. Find the following product and write the result in standard fo@'

(~e+iyari) = L7 — T ADA —F/'il
(-9+i)3+i)= —1L) -+ ([ ,_(./(L

Answer: - 28+ (=61) ~177 — 6_/( -(’F()
ID:1.4.11. A St ( Zf"“é

73. Dnnde the following complex numbers and express the result in standard form| a+ b ere a and b are fractions in

lowest terms. oy CL 54 _{_Zi_,q '-35.,{ /’ ’??‘r—ﬁZ?A
1+7: 7 /6 —7 A-(-'/U/A-'Zs./ll y
4+5’ . e ¢/ AnSwe="

r

1470 Fof 254 T =/ )
445 —0m /6 . ZS'/f ra /
Answer: E+E _ﬁ_&i,{ “5 5—/))
FTRTI /6 -——Zr,(-—()j.
& Q3A 35 g
ID; 1.4.27 —————?—é'jf,—z—“?—“‘ _

. x-intercepts. ( >( __f‘_ ﬁé( —

x? -3x-40=0 Yrtrs =< O
The solution set is . '
ts only once. )

{Use a comma to separate answers as needed. Type rep

=5 =0 p X—A+T =07y
Answer: -5,8 @ @/—f"/
ID: 1.5.1 dw sWw/,—
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L
75. Solve the equation by faW / == 3 //}’O —
&Pt )T
The solution set is { . )(—(' =0 a1 37

(Use a comma to separate answer)s(a; nefdzj.Lo’S___ 6{ )(___ g__(c }7 —OT \Z d V»‘,( wr
575 ' ——

Answer: 8, - 5 — = ) ~

ID: 1.5.3
"""--_._,_‘_____-___-_‘_ S — _________“-_-_‘_-_

76. Solve the equation by factory? (3 7< f(’ 5’/' C};&f) TS l;_(:) y - B
9x% +21x-8=0 33(%37 = ot -
o8 h Xl =]
The solution set is {:}3 (’Fffg/o 0
(Use a comma to separate answers as neegde})’: _')7 0' /L 3 )(f’: /

: s nspt’
-% 2L = = O'ﬂ- ] 4

’%:iférﬁaﬁ ~
: ID: 1.5.5 Cj_é//'

77. Use factoring to solve the quadratic equation. Check by substitution or by using a graphing utility and identifying
x-intercepts.

2 S
2% +10x=0 .//{‘A/f" 2)(()(""c 5) “"))(_f -
The solution set is . Z/)( — O/L S
(Use 2 comma to separate answers as needed.) LA ’C_J_ 6 ﬁ X,_f.)..-_’ S To

Answer; 0,~5

X% =3x+40

Answer:

w] =

ID: 1.5.9

I

— | — .
A R i vt e o e e
— —_ L o '
14 - 14x=(4x + 2)(x- 1) ’ /YO"{(/C:S '; ?LX Z)( -
The solution setis | . - X"y~ L~/ X

{Use a comma to separate answers as needed.)

0= PxbFl1ix—16
0~ FOx=+3x—¢)
N e d N S N
zo g Xf/’:..) on Xr¥==
Xqr=o/  OR  feFr =TS
(A 0% H=7>

300f67 ST2072019, §:58-AM

78. Solve the equation by factoring.

Answer: 1,-4
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79. Solve the equation by the square root property. (%_1)(— - (ff /
< £ Ly
What is the solution set? )(/( ~q oA )(/( f§ -

1 |} (Use a comma to separate answers as needed.) :
Answer: -8, 10 { (‘f( p7—r‘/ 04 )(F-(’f— 7‘“ / j( X/C—X/

, CL RS
ID: 1.5.21 WS&/

e i

80. Solve the quadratic equation by conEIetlng the squ

o K FtHr ( eyt ve (G a0 A
What is the solution set? Xl“( Zz)( /f’(/] - Ya’ "{‘ ({/

{:} (Use a%:g'ln:af té%%gtfe‘ar(swers as neecéc{_f
X xrsl =7

sy (G ()=

)= F S

ID: 1.5.47 ;r—‘
e e L i) : + __.9( / — = ___V-—-
YC ¥
81. Solve the following equation using the quadratic formula,xf :f_f__:__ 7
/ I K=—b*ol-vsc Z’é
x"+12x+35=0 i S —F
:} \4-_ - Zk__ I X - —_/__;_’_—:_

TTua’ so#tn;n sef |sC{ o . }. 2

(Type an exact answer, using radicals as needed. Use 'a comyma to separate answers as needed.)

= =) ) 17y A =~ | ol K=6T!

Answer; —5,-7

200) | X=—¢vl gy X=~ 7
ID: 1.5.65 X (L /7 7 @ GAns e S

: 'f'/ i
Solve for x using the quadratic formfla— — 9 é AL The solution set is {:}

Zea (Type an exact answer, using radicals as needed. Express

| x2 -b4x+8 0 )( (-t,é )+ x numbers in terms of { . Use a comma to separate
a , p= _q C 7 _? 5 4/ answers as needed.)
I - D@ = )( c 2t

Answer 2+2:2 2i Z(/ )

wen AT __(_}é;_____,_

V/ T e
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(&
83. Solve the equation by the method of your choice. Zl{ 5 ’(/

2x% -5x=3 @%I) C 3) ’) _
The solution set is {:}

Zx—F { “ 3 =2
(Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

2t (=~ s ro
Answer: 1 : o e
- = (X=2)
2£ = ),
(X
ID: 1.5.83

84. Solve the following equation. /7 g ( ) )( 7:,_( 2 x .f-?C ) —>

3x% - 36x+108 =0 ’5()( _@@_@
The solution set is {___} aéﬁ) o / — = ol ,( —( ~ =y

(Use a comma to separate answers as n J }( 66, --—L_J -~ G &( { —6746 =Sl o4
Answer: 6 @ @
ID: 1.5.95 ﬁhj bhov @

85.

Solve by the method of you oice. (é) (5) —Select the correct choice below and, if necessary, fill in the
answer hox to complete your choice.

36x2 -9 =0 Cé X3 )((6¢3) =0
G 'e _f} oA 6 T ) A. The solution setis {

(Type an exact answer, using radicals as

é{—-ﬁ} —b Ee— b needed. Use a comma to separate
-3 “ ({,gﬂzj To-r7answers as needed.) M

6)/ - (0 B. The solution is not a real number,

6. -3 QN 6x=3 7 (%=1
Answer: A. The solution setis{ %.—% [ _g'[ = Z? l? (Z‘(} "'(U ) T2

(Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

G( vty ) 24—+) =
~3 2l
ID:1.587 X' = Z O_’_{_‘ )( B %,1 e _u_?)(_p >

5/20/2019, 8:58
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86. Solve the quadratic equation using the method of your chmce

5x% - Bx=0 /’—"7 {/ 5)< P,
The solution set is {: )/( S '—7F) ~=

(Type an exact answer, using radscals as needed..Express complex numbers in terms of i. Use a comma to separate

answers as needed.) ; O yoa 5’ X — 2’_..;_3
s S)(-—Z—r‘fj S ] Gn s Lb,/

5 S-._‘(
5% ID: 1.5.103 ‘J:'ji< - X

87. Determine the x-intercepts of the graph of the quadratic. Then majch the function with its raph Each graph is shown in a
[-10, 10, 1) by [- 10, 10, 1] viewing rectangle. ,8..-, n Lo 74 Iy

2 —
y=x"-6x+5 d - X —6(4\
Select the correct choice below and fill in any answer boxes within your ch?a D (
= ﬁ

O A. The x-intercept(s) isfare x = . =
{Type an integer or a fraction. Use a comma to separate answers as needed. )

Answer. 8

() B. There are no x-intercepts. J( —(~ ( - / ( )( T Qv
Choose the correct graph below. ' g /(.__-—::_\:"‘\

O A. O B. O D. G St

J- A | = will [nwan
v, A

v/mM/W o

Answers A, The x-intercept(s) is/are x = 1,5 : ( / (.)) m

{Type an integer or a fraction. Use a comma to se| answers as needed.)

ID: 1.5.109
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88. In a round-robin chess tournament, each player is paired with every other player once. The function, shown below, models
the number of chess games, N, that must be played in a round-robin tournament with t chess players. In a round-robin

chess tournament, 6 games qgre played. How many players entered the tournament?
6 = €€ A Shoen TN
e -t Tz

z 6(2.) 2 (€O
How many players entered the tournamept?
(2= eb-g
; [ players (Simplify your answer.)
o= € —€—/L
Answer:4  (} = ( é+})(@— C/)

£330 O €S
cr33=y-3 Ot €T+ -ure

ID: 1.5.131

L

89. Solve the given radical equation. Check all pioposed solutions. Q_._-—"'/ Oﬁ" Q(

V3x+25 =x+ Uoxres) = &Kep) |/3¢n)fec = €2)F7
s ! IxX-rls = CA('I’?) «*f'?/ <riy ~3p7

Select the correct choice below and, if necessary fill in the answer box {o complete your choice.

. 3IN+25 X I 75T Wwe = ¥
() A. The solution set is {_3_‘)(:4‘:- 2 ¥ ""‘)((--—,c/‘,e:)(,f¢7'\l = é?d/

{Use a comma to separate answers as needed

() B. There is no solution. O - '-f/“'é/'!‘ f‘ T —324-2 5_.' U g("g)"f"é—f‘ = 63)* 7
g< x°~r-//>(+ Ly ) FE A= 7F7
Answer; A, The solutmn set is {I} {Use a comma to sep rate answers a eded.}) __
RCIRSVCan PAR 7 et
ID: 1.6.15 "53 o o T [ £ ~{ BAD

—— etk 2 =0-3 IC xf~7=0" ¥
90. Find the solution(s) of the equation. ? y/—7 = — // o 2X—3< //
|2x - 3| =11 eX—34% ==+ 3 of i ’54'/3/ /73
2y = =8 gl X =/

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

2X = =F X = .‘(Z
) A. The solution set |s{ } Z T 43 %

ra
(Use a comma to separate answers as n 9 /L
) B. There is no solution. X: - ﬂ/VS

Answer: A, The solution set is 4] -4,7 ir.(Use a comma to separate answers as needed.)

ID: 1.6.65

—_—
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91, Use interval notation to express the solution set and graphrthe solution set on a number line.

2 X+ < /o0
2x+4<10 — oy = &

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The solution set is . {Type your answer usnng interval notation,) \\\
) B. The solution set is @. 27( < %\ )
e
— i
Choose the correct graph below. >( < 3 J—— .i-NH
i) A. Vi .
D -8 B 4 2 0 2 4 6 B 10 -10-3-5-4-20246810
ac. {) D. The solution setis @.

108 6 4 -2 0 2 4 8 8 10

Answers A. The solution set is (-o,3) . (Type your answer using interval notation.)

C. 10-864-20246 810

ID: 1.7.27

—_—

- ‘ h =7
92. Use interval notation to express the solution set and graph the solution set on a number line. —f'::": <l 25 W_Rjj—

et g

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (/ z,,—-' ’ c/
— — -

(O A. The solution set is . {Type your answer using interval notation.)
() B. The solution setis @.

Choose the correct graph of the inequality.

O A ‘ OB

108 6 4 -2 0 2 4 6 8

08 6 -4 2 0 2 4

gc () D. The solution setis @.

-10.8 6 4 -2 0 2 4 6 8 10

Answers A. The solution set is . {Type your answer using interval not%ﬁ - -:_..\
— A

F""s’-'
C. -10-8 6 4202 46 810

ID: 1.7.31 " - ..__(/\.&‘_/ ““Sfj
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83. Solve the inequality, then graph the solution set.
|x+2|<5

Select the correct choice below and, if necessary, fillin the answer box to complete your choice.

) A. The solution set is . {Type your answer in interval notation.)

— S < xr? €
Sl & Xy € L

) A. O B.

=20 15 410 5 0 § 10 15 20 220 153 210 -5 0 5 10 15 20

) B. The solution set is @.

() C. () D. The graph contains no points

20 15 10 8 0 5 10 15 20

Answers A, The solution set is [-7,3]) { {Type your answer in interval notali
A 201510 5 0 5 10 15 20

ID: 1.7.61

—

94. Evaluate the functidp f(x) = 9x + 1 at'the given values of the independent variable and simplify.
a. f(1) b f(x+3) ¢ f(-x) ,/(() =90+ /

a. f(1)= (Simplify your answer.) )[({) = .T-f_/ (/ﬁlﬂ) ("\////_
b. fx+3)=] | (Simplify your answer.) ,/( ) = /9 e

c. f{-x= (Simplify your answer.) .,[( X 3) = q/&-}j) T /
Answers 10 /()/"43) = 7)<’(’ 27+/

9x +28 (/75(7‘3) - 7)(-—%2!{_)

/4%4) = G(x)+/ .
e

-

_____.______'_,.-v-"’

ID: 2.1.27
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__t‘_—i,

95. Evaluate the functé(:):x2 + 3)(_:35:t:the given values of the independent variable and simplify.

a. f(9) b. f(x+2) c. f(~x)

a. f(9)= {Simplify your answer.)
b. f{x+2)= ‘ {Simplify your answer.)

c. f(-x)= (Simplify your answer.)

#a) < (7) F36) 5
tome AW (V)35
x? - 3x~8 //‘i) = g/ + 7 —7
/(q‘) - /0 f"‘b’ /

e 77 7/ A ) _ )
<77 s

Firz) = ,(i})a-fﬁ()(—fz) %
Flet) - A/ﬂ)(/—fl)’f“3/f(*2) o

/{)(*& }/,{, 2/,(,./— Zs(—-f"/ —(—3)<—7‘C Y

W?x@f’

Fr) = (<) I =5
o f ) + 3(~x) "3.

/—rJ:V“

Answers 100

———
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96.
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Graph the given functions, f and g, in the same rectangular Ay
coordinate s . Then describe how the graph of g is uly
related to the graph of f. ]
. 7 Hx)=x |
[ gx)=x+6 / 5
2 ]
Use the gr;phing tool to graph the functions.
How is the graph of f shifted to get the graph of g? &
10 5 o 5 10
The graph of g is the graph of f shifted (1)
by | units, !
-5
A
: ) X zé(
1) O J[Kd X /
(1) O up — O o
e o .
) down - 7%)) -0 .
L __—__._._// ’ '
Answers _
() up (1)-=Lx 4 P
6 W 7
G010 -

iD:2.1.39
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97.  Use the graph to determine y
4
{a} open intervals on which the .
function is increasing, if any. x
(b) open intervals on which the s es5a32aNA\34567
function is decreasing, if any. =

{c) open intervals on which the
function is constant, if any.

{a) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(O A. The function is increasing on the interval(s) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B. The function is never increasing.

(b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The function is decreasing on the interval(s) .
(Type your answer in interval notation, Use a comma to separate answers as needed.)

() B, The function is never decreasing.

{c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The function is constant on the interval(s) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

{0 B. The function is never constant.

Answers A, The function is increasing on the interval(s) [( - o0, 0),(1, 2)..
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s)[ (0, 1),(2, o) |.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never constant.

iD:2.2.9

e

/PIIHICV’&);;‘) (——03 o, )

- —
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98.
The graph and equation of the function f are given. f(x) = 2x3 -3x2 - 36x + 8
a. Use the graph to find any values at which f has a relative ; b\;?"
maximum, and use the equation to calculate the relative ( \“ (7 <L A .
maximum for each value, il el ]
b. Use the graph te find any values at which f has a relative . ) /‘\ .
minimum, and use the equation to calculate the relative 3
minimum for each value. / >, %)

(- 551]by[ 90,80,10] &i

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

) A. The function f has (a) relative maxima(maximum) at and the relative
maxima(maximum) are(is)
{Use a comma to separate answers as needed )

() B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

) A. The function f has (a) relative minima{minimum} at and the relative
minima(minimum}) are(is} ;
(Use a comma to separate answers as needed.)

(" B. The function f has no relative minima.

Answers A.
The function f has (a) relative maxima(maximum) at -2 and the relative maxima{maximumy}
are(is) ‘ 52 .
{Use a comma to separate answers as needed.)
A
The function f has (a) relative minima({minimum}) at 3 and the relative minima{minimum) are(is)
-73 .

(Use a comma to separate answers as needed.)

Usc 4rect
ID:2.2.15 | 145(7 j/(_/[ (c_/c.‘(loh {\/\.V‘IC‘(’(J/\

= - A —
Y, = 2X 3-——~3X 9\"‘36)\/7‘37)
ki [~ sU) \
50

40 of 67 520201 F AN
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99. The domain of the piecewise function is { = co,00). x+1 if x<4
a. Graph the function. f(x) )
b. Use your graph to determine the function's range. x=1if x24

a. Chopse the correct graph below,

b. The range off(x) is| . (Type youranswer in_interval notation.) [ = A/’f, ""c' ()(< (f)

j\nswers o e —‘_‘—-/L ..\(\721“: )["‘""( - ()(29") f f
v . (el = Close

BIEdE paat ! (j_/,,”n T =0

A e \7 - (/{ - /O

(- co,00)

1D: 2.2.47

100. f(x + h) — f(x}

Find the difference quotient of f; that is, fjnd h
Cag=s? -gx‘;‘a — 2 (A = =G ()T —(xt 9 xer) -
fx+h) - f{x) h) f(x) 4 ‘

R P Y e ok b bl it S

Answer: 2x+h-9 4

Y ht htht =5 X =AY =X Ty

h #@ for the following function. Be sure to simplify.

ID: 2.2.61

)(/Z;(,ZXL,—'FAL“, X H_,f f/__.
X +2Xh ;
> X h—F ht —54
At 4
24 h
'77/‘ T

74
2
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101.
Use the graph of y = f(x) to graph the function Choose the correct graph of g below.
g =flx-1)-1.

y = f(x}
AY
3_

ID: 2.5.21
- § 7 Z
102. Find the domain of the function. )] @ |M\
=43-2x - /{Q) A g |

What is the domain of f?

At AX~0 25

| (Type your answer in interval notation.)
Answer: (- 0,2] A 4 (7&..-2 X ;O
e X2 O0—¢
ID: 2.6.23 __2- X . 9/
K £ =L C1\V~J(A Lj a 1745 Hect
7/;v\/m C///jH.Z:, (/c/«\/(

gL 58 AM
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103.

f
Firstfind f+g, f- g, fgand E Then determine the domain for each function.

_ fx)=4x® - 14x-8,g(x) = x~ 4

_—— {&ﬂ"r PREN R

{f+o)(x)= (Simplify your answer)

(Gxt=r¢ ¢ =% +&—yI*
AR S s G A

What is the domain of f+g?

O [0.00)
9] 12 12
o))
O ( 12 ]
-5 25 e IR ——— I
O (eoe) Fe] = 7% =

EIZJ(L—

o s _
{f-9)x) = (Simplify your answer.) K=Y ) 6( (")

13 of 67

What is the domain of f- g? Q)/L-—/H‘.( -—¥— )(7"'5/ -

S e e
O [0,00)

° (b

O (-o0,00)

(f)(x) = F—l ( / g ) s

What is the domain of fg? I :
) (=o00,00) /4 j ) —_— C‘L.)“" Con b{

O (- o0.4)U(4.c0) ((-/s( —/(¥ - X/G/"‘/"): (—n2, neo)

z ['%“”‘]1 6‘)(3 /6 _ /¢ L‘f_fé)( e i

S G Taa T
[ ](") [ i(simplify your answer) / )// P—— f,_——_i:}_.__%;-
What is the domain ofé? ;/g(z _ h

O (=c0,4)U(4,00)

O (-w) “Yevro—y N
O @) =z
O [0,0) and _i/

202 =x—) _
I
2 (2xX +1 )4

AR — —
Q{ﬁ/ ) s
= K /S 51202019, 8:58 AM
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Answers 4,2 _ 13x- 12
(= 00,00)
4x% - 15x-4
(= 00,00}
4x° - 30x° + 48x + 32
(= 00,00}
4x+2
(- 00.4)U(4,c0)

ID: 2.6.35
- _.._:\_.. e ..,.._':__ . CY’_ : {—f-
104. F f(x)=3&n@ x+ 8, find the following functions. Iéd 3 )( j ) 7
a. (Fo 9100 b. (g 5 DX): c. (f 0 9)(2); d. (g = F12) {Zo ) (<) =

a(fog= | //j &)) =

{Simplify your answer.)

b. (g e N9 =| S (r7) -

(Simplify your answer.) B :

. (o g)2)=| e 3} i{%\\ l/
)

d.(gof)(2)= l Q - —

Gof. %) -
Answers 3x + 24 j / 7[60) :

3Ix+8

%0 j( L) 2 (
ID: 2.6.51 (_3 X *Dﬁ
(’[O GIx) = 32y 9 it )M,: 3>(Z-/ ¥
Yoo ) 1) = 30wy @a{)(z) - 3(0) -+

Fa(u = erey Gof ) Cr Y
Foy)/ SDF @( 2) < @M

e
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//5)“)' (05/);’( 3xr/o

1085. rf(x)= x+\}n g(x)= 3x+5 f d the following functions.

&« & x
a. (1 8)(0); b. (g 0 D) <. (Fo 9)(1): d. (g o (1) //3)[ j ))) éﬂ/l? c 32
-5 J=
a. (feg)(x)= [ | {Simplify your answer.)
Gx+<s)+ 5— /=
h.(ge = l Simpli . =
(g o fi(x) (Simplify your answer.) v ),_f)_ - jf

c.fog)= | % /
d.(gon(n)= | (ﬁdf)’:()“ /(j d{)f() ¥t 20

Answers Ix+ 10 j(‘/ﬁ‘q) :'— / Qd[)(l} 3(’)’*2\3

- G o= S ;o/)n) - 3-r20
13 3(xrs)FTE= oK (D= 27 >
23 SXFIsTE5— o
ID: 2.6.53 @
108, F@M\@@ the followi gfunchpn%/?)ﬁ( } 2 - Z )(L)( . 2_

a. (f o gi{x): b. (g o A(x); . (fo g)(3): d. (g = H(3) s )B)z —=203) _ (3)-2

r eg- (/ 0 5 )& \ %’JJ/ =t )H) —(3) -2
implify your answer) /() 6(/) '| N

b @ofw=] | @05 (3/ 132

(Simplify your answer.) //Z;(L?’z(—(’t,) . Eﬁ)(’b) B _2 7 -
c. (fog)(S)-‘_—-—] |— (Z,,(L—f,( ,3)I

d @on@m=[ | [T ‘X3 < 60[/};{}-' 2x Sser €

Answers 9,2 _y_9 :. (ﬁdg;) - 2—(3) —$(3)+¢

2x% - 5x+6 (35;) 2) :_“ (dl[/)/jjﬂ Z/g)/g} — 1)+ 6
\Ga(3)= (4157 ¢

2 (1) S (1=)3 T

D289 2 =) (U= )7 ({=075 I

2 (I=1%—(« x| (=043 =
21 (= x+xY) #((=9 +5_
L — o X XD

XY —5 X 6 =

T ™
45 of 67 / 5/20/2019, 8:58 AM
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107. Find tHWenthe pair of points. J (/’—;(L’f’ -f’[ 7! 7 ]
Sowss & V@)=t 27¢) - -
The élste{nce ltwe'éh the points isf it
{Round to two decimal pla:es as needed.) Z!s C\ (’ff }) ‘ + / 6= Z) ¢
V(3 +(4)

ID: 2.8.1 c\: /7 J = —S—\\

Answer: 5

108. Find tife midpoint of the?line segment with the given endpoints.

(10,6) and (4,2)

Thé:lﬁc;égint o)f(tzﬁezezr’nent |s
{Type an ordered pair.)
l {)( /4 J s -9«/ /( 7r. 7 t 7

Answer: (7 ,4) Z/

ID: 2.8.19 (/U) 'f ﬂ’) f(/'r‘/z)j

—
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———

109, ————— TS

Complete the square-antlwrite the equation.of-the circle-in™ Ay
standard form. Then determine the center and radius of 10-

the circle to graph the equation.

x° +y +4x+10y+25 0 &

z =2
g L :
The equation in standard orm is

(Simplify your answer.)

Use thegraphmg tool to graph the circle. 5 6 FETRRARECRE
{—fﬁ/(—f ({(tx) J +9 —f'/Ji /1(/0))- ~25 (//(Cf) 1‘(12//0
X7 +(2)* 7‘7 10y +) = =15 ()Ll =
\(dsfs(%?fj ﬁoy—(—zr*“z““"(/—f‘zr K

(Y () —+ DF)(b-¢5) =
ANSWers (x +2)2 + (y +5)2 = 4 . ()(-ﬁZ) ~ /\j -(—g)

10

. @fgﬂ - ('-&/E
it kﬂ/ﬂn s T (/(17 = @

-10-

y =

—_
o
o
[=2)
kS
[
S
.
o
-
=]

ID: 2.8.53

e e
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110. In the following exercise, find the coordinates of t@ya) parabola defined by the given quadratic function,
V+-Lf¢ © ( ;_ )
f(x)= =2x% = 16x+7
A= _fcz'-“:/f’j c=7 V/LQ /(—/é
The vertex |'a}

(Type an ordered pair.) 2(1)

v=rls, ( it #£))
Answer: (4, - 25) (/'/_/ - ( 9/ 7// 9))

" Ve L4 - zcm// —-/cry/jﬂ
1. Findm@r the parabola defined by the given quadratic function.

fx)= —x° + 8x+2

q=—1__ b=y C =7
The vertex is | . (Type an ordered palr)
Answer: (4,18) (/r’/ Lﬂ 4 -_ /[

ID: 3.1.15 Vi (__Z(Z ) /(Zf—z—) 7

W f (G
Verkey = (4, f))
Vorlag /9 —(9) +§¥)+2 )
Verds, - (9 - (N )+ )

Verk, /9 —/c+32+z)
sy 1Y)

_________-H-_H_'_'_\—‘_
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12.
Use the vertex and intercepts to sketch the graph of the Ay
guadratic function. Give the equation of the parabola's axis 104
of symmetry. Use the graph to determine the domain and e.—-
range of the function, 4
2 &7
f(x)=(x+3)°-4 |
4~
Use the graphing tool to graph the function. Use the vertex 24
and one of the intercepts when drawing the graph. T x
The axis of symmetry is | I {0 8 6 4 2 | 2 4 & & 1w
(Type an equation. Simplify your answer.) -2
The domain of the function is ! 4]
(Type your answer in interval notation.) _
The range of the function is . -6
{Type your answer in interval notation.) i &:
-10-

Answers

(- c0,00)

[-4.00)

D:3.1.17
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113.

Use the vertex and intercepts to sketch the graph of the Ay

quadratic function. Give the equation of the parabola's axis S

of symmetry. Use the graph to determine the function's 8_'

domain and range. |

f(x) = x> +dx+3 6

4

Use the graphing tool to graph the equation. Use the vertex .

2

and one of the intercepts when drawing the graph.

\ 2e

-
b
for
o

L =1 T T T T T T .
The axisofsymmetryis[ . -0 8 6 4 -2 2_ 10

(Type an equation.)

The domain of fis [ ; '4—

{Type your answer in interval notation.) -6+

The range of f is ]. -8
(Type your answer in interval notation.) ]

Answers

50 of 67 5/20/2019, 8:58 AM
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114,
Use the vertex and intercepts to sketch the graph of the

htps://xlitemprod.pearsoncmg.com/api/v1/print/math

4

quadratic function. Give the equation of the parabola’s axis ihia
of symmetry. Use the graph to determine the domain and 16+
range of the function. 14
f(x)= 10x - x° =9 21
104
Use the graphing tool to graph the equation. Use the 8
vertex and one of the intercepts to draw the graph. 6
The axis of symmetry is . 4
(Type an equation.) 2] x
The domain of the function is Ao B8 6 -4 '_2_- "2 4 6 8 10
{Type your answer in interval notation.) 4]
The range of the function is &
(Type your answer in interval notation.) T .8
Answers
x=5
(- o00,00)
(- 00,16
ID: 3.1.31

5202019, 8:58 AM
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115, Considér the function f(x)= - 2x% + 4x - 5.
- - - =y
a. Determine, without graphing, whether the function has a minimum value or (@ maximum value.
b. Find the minimum or maximum value and determine where it occurs.

¢. Identify the function's domain and its range. V ¢ /LC,( (

a. The function has a (1) value. (/[ ¢ (
Z('-’I
b. The minimum/maximum value is f It occurs at x -I

¢. The domain of fis . (Type your answer in interval notat th:n ) /
E— Vrrdex = / oy /

The range of fis _- .. (Type your answer in interval notatlonv

(1Y O maximum (/"/ L'J( C ( // /(l ))
) minimum ’
Answers (1) maximum
-3 Vil ( / ~201)(7) +$/0]-5)

:_ | L +Yy—1)
(~e0,-3 / =3) “X

116. Diwm.ﬂumsmm ~
e 9t y
(x +6x -4x+5) +{x—4) & o [fyvy

(x3+6x2—4x+5)+(x-4)=:’+T—~—— , /o 36 /qéci’-/(h\

{Simplify your answers. Do not factor. Use integers or fractions for any numbers in the expression

Answers 42 4 10x + 36

149

1D:3.3.21

i —

7. Solve the equatiur‘ X - Sx2 +2x+8=0given th@a zero of f{x) = x> - 5x2 +9x+8,

The solution set is . {Use a comma to separate answers as needed.)

_—i,/ [ -5 (& .4 J/f-z—fz —orlL 04 )’_(‘:f/'fy‘_—a-fy
Answer. -1,4.2 - >

\ViSpwr

| — J
0936 )/L-#Gy’é gzof T a——
K"" {7—{3 = »L“’/ J
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118. The following function is given,

(k 7'7'77'7'7__/'

33 of 67

fx) = 72 - 5x° = 63x + 45

a. List all rational zeros that are possible according to the Rational Zero Th m C oo h’p correct a

1 3 6 5 15 45
OA. £1,43,46,£5,215,4452 2.8 5 k47 2 7t é 5_/__

r A 7' 7
Fr/)/

CE/ 1 3 9 5 15 45 ]
B. +£1,£3,+£9,£5£15, 245+, = t—.t—, t—

1 7 1 7 1 7 1 7 1 7
D€ #127.254325 0525 55 235455
1 7 1 7 1 7 1 7 1 7
OD 127,25, t3.20.t gttt st p i mig

b, Use gynthetic division Ip test several possible rational zeros in order to identify one actual zero.

One rational zero of the given function is
(Simplify your answer.)

¢. Use the zero from part {b) to find all the zeros of the polynomial function.

The zeros of the function f(x) = 7x3 = sz -63x+45 are ,
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed.)

Answers 1 3 9 5 15 45

B. :I:1,13,19,;'54\115,145,1:?.1:}',17.1?,1—7—,1: 7

/ —_— '_'63 (fbf
) T o ei —es

gr—

3,-3 7 /6 -/5 @
ID: 3.4.11 7XL ﬁgX""’/f: =

T%ﬁﬁ?+iygy B

Tes= O ot KT L
Ao 01 X

7yvzs 0= Xm0
g

~Njen ~| o

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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v‘ | L 219N T %
119. The followm e uatlon is given, '} I —5S
e 1 = 3 —6 —Y
(~ lx -5x% - 9x+45=0 i © [ — L -/ § @

a. List all rational roots that are possible according to the Rational Zero Theorem)/L_

I—/s = &2
<0 04  YesTO
b. Use synthetic division to test several possible rational roots in order to identify one actual root.

One rational root of the given equation is | %f }"} -~ OIZ X 7& :

(Simplify your answer,) @ aﬂ_ ( ,(

c. Use the root from part (b.) and solve the equation.

{Use a comma to separate answers as needed.) ,(
._/—

The solution set of X - 5x -9%+45=0is
{Simplify your answer. Type an exact answer, using radicals as needed Use integers or fractions for any numbers in the
expression. Use a comma to separate answers as needed.)

——

Answers 1,—1,3, - 3,45, -455,-5,15,~159,-9 / 3 g_

5 1 : <
53,-3 A s bhoe—

ID: 3.4.17

xﬁ’\—’//_\_
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120. A incomplete graph of the polynomial fuﬁﬁ\ f(xy= - x> + 4% +15x - 18 is
shown on the right. v —

a, Find all zeros of the-function . \

function. . . :
b. Without using @g utility, draw a complete graph of the function. \-/;
/ [

[-5. 0, 1] by [-35, 30, 5]

-

a. The zeros are l '

{Use a comma to separate answers as needed.)

b. Choose the correct graph-of-ihg function below. The scale for each graph is [ - 10, 10, 1] by [ - 65, 60, 5].

O A.
Answers -3,1,6 - )(/13 ——f—/(/)( -f‘/g('___—li >

-\"\-\.

) A=t 8

/{0 Kmee™?
| ; \1 M oin < -35
mLJ 3 < /
ID: 3.4.53 %1 _ P

121. Find the{vertical asymptates, i any, and the values of x corresponding to holes, if any, of the graph of the rational
function,

f(X)=xf2 1

commas to separate answers as needed.

(3 A, The vertical asymptote(s) is(are)

O B. The vertical asymptote(s) is(are) and hole(s) corresponding to

O €. There are no vertical asymptotes but there is(are) hole(s) corresponding to

)} D. There are no discontinuities.

Answer: A. The vertical asymptote(s) is{are) i x=2 . There are no holes.

ID: 3.5.21
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122, Find th verhcal asy,«mptctes:I if any, and the values of x corresponding to holes, if any, of the graph of the rational

function; / %’ / 24
x=1 ’4
T K—Dke-4)
X =5x+4
; /2 / . 4 - St
Select the correct choice below and, if necessary, fill in the answer box{es} to complete your chaice. (Type an integer or
fraction. Use a comma to separate answers as needed.) LA ,(—- Y =

f(x)=

O A. Vertical asymptote(s) at x= and hole{s) at x=
O B. Vertical asymptote(s) at x =

O €. Hole(s) at x= ?:—-‘_\

{) D. There are no discontinuities.

Answer: A. Vertical asymptote(s) at x= 4 and hole(s) at x = 1

ID: 3.5.33 vertiet a 7 "“/‘(’@

123. Find th onzontal asymptote;gf any, of the graph of the rational function. /g "¢ /¢
__16x I ,_____/GK 71-— //H—) Xt = /’m X —

f(x) =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The horizontal asymptote is . (Type an equation.) 7 o -
() B. There is no horizontal asymptote.
dd
—_
Answer; A. The horizontal asymplote is y=0 ! (Type an equatton) 7

e

'fi-u// Aot
— ——— ﬁf‘jﬁﬁy_L/L ———

N B ! e T
124. Find tha horizontal asymptotg, if any, of the graph of the ratloPal function. / A/ 1 l
e _ / (&
e 1 lim —

12x 13

ID: 3.5.37

X't —
Select the correct choice below and, if necessary, fill in the answer box to complete your chmce.

W0 o es )(—-9//\7 Gxles -L T 0o C)(;( + 5 X—n 6T

() A. The horizontal asymptote is . {Type an equation.)
. _ G0
() B. There is no horizontal asymptote.
2 /L
Answer: A. The horizontal asymptote is y=2 . {Type an equation.) B 6
ID: 3.5.39 -
S
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125. a. Find thg slant asymptot of the graph of the rational func ~dse-the-slant asymptote to graph the rational
function. ‘ L # — m
&f -t~ ‘ 7 -
: 1wy S

x“-x-2 [

00=——g— T2 7o

a. Find the slant asymptote of the graph of f. Select the correct choice below and fill in any answer boxgs within your

choice. /_ )/1 . . | ‘7,_,,,[,,010_1_ Xz o
Cy- - ”;)(c/ o) = @ A)—1 . Q=OL
(O B. There is no slant asymptote. O)-y , O— ¥

b, Use the slant asymptote to graph the rational fun

First determine the symmetry of the graph of f. —* In [J/ Cv ﬂ-/ = ——‘-L—_

(O A. The graph has y-axis symmetry: f{ — x) = f(x). (
(O B. The graph has origin symmetry: f(~x) = - f(x). /\,‘/ )é_ /"][//C«q -+ 0 - X __{__ '3
() €. The graph has both y-axis and origin symmetry. --—")—(——"'
Fﬁ “The gr pihasneither y-axus nor ongln symmetry, =

o -

Find the y-lntercept(s). Select the correct choice below and fill in any answer boxes within your chmce 'L

L{_ The y- mtercept is o Q 7#()@ -ZJ

(Type an integer or a simplified fractlon Use a comma to separate answers as needed )

() B. There is no y-intercept. [_{_ / e g /(.__2 —5

Find the x-intercept(s). Select the correct choice below and fill in any answer boxes within your choice.

/(-f/“( o= gl XHl=zory

PASWETS as l"IEEUEU)O y @

Tn any answer boxes within your choice.

—_—
o] J';’f/A The x- mtercw
{Type-an-integer or a simplified fract;e 1

) B. There is no x-intercept.

Find the vertical asymptote(s). Select the correct choice below ang

t,-'..-' .;"-_'{'A- - S T V{',,L LLJ “a 57 V4 ldl{_ _,M {__.kf:_o

— (Type.an integeror a simplified fraction. Use a comma to separate answers as r}eeded ))( Y 7Y U7
) B, There is no vertical asymptote. ' 7
e+ g/( a5y (o [( )( =

Find the horizontal asymptote(s). Select the co your choice.

OA. y= it j/CWA--‘S CK/C'—\/ ,/ . |

(Type an integer or a s simplified fraction. Use

B. There is no horizontal asymptote.
_-_-_._'_._._,_o-”
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Answers A. y = 1 x+3

D. The graph has neither y-axis nor origin symmetry.

A. The y-intercept is

1

2

https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The x-intercept is f -1,2 [

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A X =] 4 (Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

1D: 3.5.85

5/20/2019. 8:58 AM
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126. Graph the given function by making a table of coordinates.
.,——'—~---~-._\‘:i

fx)=4*

Complete the table of coordinates.

b -2 -1 0 1 2
y
{Type integers or fractions. Simplify your answers.)

Choose the correct graph below.

O A, ) B. D,
b ¥
20 2
15 1 x
L 45 10 15
5 X -2
324 123

X
Answers 11_6 7[(' )/' e (7/ J— e % é)%
' K

Bl =

1D: 4.1.11
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127.  The graph of an exponential function is
given. Select the function for the graph.

Identify the function.

era. =2 ) OB gr=px-! 'Uc-f =25 -1

Answef a_ f(x) =2 /‘/(Z) - ‘2 -2l
@)//( )< 27 = _&1 - @
D423 /(0) 2 /\

128. Find the domain of the logarithmic function. .-'*(A./'“

#(x) = log (13- x) Y 3’2”:;—2“; —/ 3 / - (o (4)(1#/3 J

The domain of f(x) = log (13 = x} is | @
(Type your answer in interval notation.) )( > A/\_ﬁ-

Answer: (- 00,13) —_ X< -7 H—a
i ____——/ /3

oerr (X< {J CEoz I;) _x

129. Use properties of logarithms to expand the logarithmic expression a ch as possible f
expressions without using a calculator if possible. zﬂ

lo xz—y
9p 23
. [”] — )/1
ogp| > (= | )
z
3, (;’?
Answer: 2log,x+ log,y-3log,z

ID: 4.3.27 éojjg (){7 _'_'C‘/}Z (’23j— \5056(47:
R PREONO RN 2Ny

- 2 9/7()()__7&[0) /)__ Ny Ny
I, 35&; /8)-,
At 5;

120:2019, 8:58 AM
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130, Use propertles of Ioganthms to @e Ioganthmic expression as much as possible. Evaluate logarithmic

p At A (X VTET) — — Ao, ()
(S5 2z 5, — A (1)

'[ 1] _l[X“/#% W = Gnswr
(x+ 1> - 60+ _ZL-_/Z,(/\@‘/)___}/&D

4In x+lln I:x +1 .-3In(x+1) E. oﬁ,:\_ - — SR —
%@L@/—Mg/ s G@ ) wtna
ID: 4.3.37 —
/Ae) AN Vi N

‘--._/71

Answer:

131. /Solve the following expon =xponentiatequation-by-expressing each side as a power of the same base and then equating
exppnients. l Xt / ) )(
25**+1 gp5t—3 ( Z) X~ x = (//_/V—‘VJ(

9‘!——/ —
X = 7%
The solution set is
o X L

Answer. 7 2/)(’% Z - (/ {—‘/ b= / —_2 —2

VY e s~ ¢ — bé N fn S

I — il o S e

132. @;@he following exponential equation by taking the natural logarithm on both sides. Express the solutipn in terms of
ral logarithms. Then, use a calculator to obtain a decimal approximation for the solution, 2

X
4e%=788 — 7 ,_C_TL__C___: Zﬂi‘/

What is the solution in terms of natural logarithms? :,
The solution setis / f 6

(Use a comma to separate answers as needed Sim /:In'y gour answer. Use integers or fractio

expression.) / /
What is the decimal approximation for the solutlon'? -ﬁ /;(/
The solution set is C} (¢ (Ca/ //f{/

(Use a comma to separate answers as needed. Round to two decimal places as needed.)

Answers In 186 f)////-/é,//;(/
S A

1.06 _._).( : /ﬁ /—'/5_(

ID: 4.4.31

or any numbers. i

e e s e—
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133. Solve y-le exponential equation. Express the solution in terms of naﬁZoganthms Then use a calculator to obtain a

al approximation .ﬂ)r;es.:lutlon _/gq ( 7 / ( BL) 7 )

(x+3} o
Lo (ey) B (7) = R (307)
What is the solution in terms of natural logarithms? }1 : ) A ( 30 ? )
The solutionsetis { . Xt ; - “:%ﬁ 75

(Use a comma to separate answers as needed. Sifiplify your afiswer. Use integers or fractions for any numbers in the

expression.} ,{—-f _/aﬂ C 307 )
What is the decimal approximation for the solution? /g‘_, g )

The solution set is {:} ,(—f’ Y= 3 _/Z\_ (32 . -3

{Use a comma to separate answers as needed Round to two decimal pla?( as needed.) f
o unf

Answers In 307 )(:' ‘/&" (3 ¢ 7) ;
ing 3 _/K, ( q ) j”'fﬂ

-0.39

@,ﬂ, 193 (992676

o~
134. 'Solve t follow‘l;ng logarithmic equation. Be sure to reject any value of x that is not in the domain of the original
mw exprassion. Give the exact answer. r‘ € W7 :f
G

log,(x+18)=6 /"’/-% ’l - \/’f /3
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. X

A A

O A. The solution setis { }. (Type an integer or a simplified fraction.)

() B. There is no solution. 6 k(/' / ~7 / 5

Answer: A. The solution set is . (Type an integer or a simplified fraction.) <
ID: 4.4.55 ( (/ ( 7(

i

135. e logarithmic equation. Be sure to reject any value of x that is not in the domalfl of the ongu{s Idbafftlin{(
s sions. Gweanexactanswrerrﬂj? éu)7 (7()(6‘(‘_")’ { éu5 ( I)"f‘(u /((f}-f).-,

logx+ log-(6x-1)=1 ,
a7x+ log S x(er—) | T pap

Select the correct choice below and, if necessary, fill in the answer box to complet your chmc

cxt—x ¢
C) A. The solution set is { }zl'ype an exact answer in simplifi ed form. )‘-’37 Z) 7"60) ( ) "") ,
() B. There is no solution. = G,( (Y4 —-7 6057 / - (U}? (7__ /)~

L =1 -t
@ D 7;'/ *'f‘éuj /() /

. (Type an exact answer in 7|mpllfie

6»(—7 To o XelT

Answer: A, The solution set is

GyY—7+7T0*F7 o —f = o~/
ID: 4.4.67 GY=7 K"y T
= T S— T L _G/if _::_Z?
6 f}“————a,___ - 3 PR .- f | 5/20/2019, 8:58 AM.
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136. Solve the logarithmic equation. Be sure to rej any value of %t t is not in the domaln of the ongma arathmlc
expressmns G|ve the exact answer/ H_ s ) = )(_
log 5{(x=5)+ log,(x-2)=2 - -c’
Q go(x-2)=2 2 6(# - ) / i, ) clc

Select the correct choice below and, if necessary, fill in the answer box to comple your choice.
¢ XT—rx—sx /2 [log (1=5)+ by (i- 1) 2

) A. The solution setis { } T Y =7 7ro
(Simplify your answer, Use a comma t?separate answers as needed/ CO jl ( "V) 1 Cu} ( ~1 ) -

() B. There is no solution. (} = /\/ —7 X o~ 2,/54_])
o 1 —
Answer: A, The solution set is { Z ?(}—f{ C&:}jz/("f)—féu ((“Zj‘-’ i
)
5, (1)~ Cus, ()= L/

(Simplify your answer Use a comma to sepacate answers ag/neeged.

0~ & — 1) ¢
- X—fr| = U7 0_(__5:{_—16 u—,«g(—‘ y e

X~ =5 6=
- 137 Solve the logarithmic equation. Be sure to reject any value of x that is not in the

ID: 4,469

e

expressions. Give the exact answer. ﬁ éo 5 > J(f__/ 2z o / 5 /( Lfr
= -2)= L
log5(x+13)= log,(x-2)=4 Z/(f- X 3 /S‘”/(

Select the correct choice below and, if necessary, fill in tl\% aﬁswer box to comp te your choice, / 3
/ A -f /3
(= /_-
) A. The solution setis L } / X= 6 . ‘Ef‘g ﬂ i

(Simplify your answer. Use a comma to separate answers as needéd }

() B. There is no solution. /{(X—-—Z_} = [( /-7‘/,:5 éoj (37‘/}) CU (Bﬁ_l)? v
/€ :( 37 X113 / .
Answer: A, The solution set IS / CU)L// G) — C“') (l ) -
(Simplify your answer, Use a comma to separate ar;%s as needed.) 6,0\} p( 6-0\) ,('

(G =3f+Z2 = X71373 ——
paarr /6 X =X+ ¥ (”‘J bsor /ﬂ_ ;

= /’;]ij I{' = Yff'i,#f—— Fi J}
138. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of }ﬁe original logarithmic

expressions. Give the exact answ/er/;? } 6('7‘ C ) Cu) e ) (6 J ;'
log (x+6) = fog x+ log6 Cuy (+¢) = Cus (¢=) / CA-(Ck
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

X6 = Gx f(/o; /g‘t‘ 6)= (9/;:)1&(9—@
© A. The solution setis { } f
{Simplify your answer. Use a comma to separate answers as needed.) f 6—7)\'0( G'Uz/ &q, )

() B. There is no solution. )(-f (G )( - C‘D(—-' K
= &%

Answer: A. The solution set is - ,_G_ S— =

{Simplify your answer. Use a comma.to sg-.\_parate answers s needed.)

ID: 4.4.77
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hede

139. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domajn of the original logarithmic

expressions, Give the exact answer. e X (rl )~ L z22) _
sty LGNGO TELY e (<5)#Los (520 h ey
log x+ log{x+6)= log 27 j
L6 =2 ./f;A- /4D

Select the correct choice below and, if necessary, ﬁL" in the answer box to complete yourghoicg—o. _ ——
) X6 K¢ =<2
) A The solution set s { } Q(-—— 3) C)(-f' % &

{Simplify your answer. Use a comma to 'separate answers as negded.
.-f

—

() B. There is no solution. ,( -3 T O o iy &
=313 =3 04 AFT-=571F

Answer: A. The solution set is {____3—_} 0 605(3/74[05 (37‘()‘:((&(22)

{Simplify your answer. Use a comma to separate an
(X=3D Covel ~ Good God
Clvswr X=3 N

140. Complete the table for a savings account subject {o 2 cdmpoundings yearly.
05\ €

[A=P[1+i}m] 20000 = 100 (1) 7,
" 200G 0= 000 (14 20275)

ed.)

ID: 4.4.87

Amounted Number of Annual Interest Accumulated Time t
Invested Compounding Periods Rate Amount in Years
$11,000 2 5.5% $20,000 ?

Let A represent the accumulated amount, P the amount invested, n the number cn}c mpounding periods, r the annual

interest rate, and t the time, Find the time, t. i?fgjﬂe}”(.! Lo/ Z;; } /%; Ad’///) N Z ;g 53087j' j
= At / el

t=! years 7 / (Z,A, /0075) (ZA/A I(’?Jj

(Do not round unti the final answer. Then round to one decimal place as ?:eged,-:
]

fLd18/ = /0275 /

Answer: 11.0 /Z(A //;/) :,Z//,027T)2L :;.
Al gz e 2641 og)7s)

ID: 4.4.107 a,,, § by
141. Complete the table for a savings account subject @uous com?t‘m@rg.
KT 5 5
(A=pe™) /7-000 ~9s00 C
Amount Invested Annual Interest Rate Accumulated Amount Time t in years
$9500 13% $19,000 ?

Let A represent the accumulated amount, P the amount invested, r the annual interest rate, and t the time. Find the time,

.
t (7000 2460 & 43¢
te | years 950V }KU _
{Round to one decimal place as needed.) / /d, / Z ) - - / 3 -é
/3

2=l
Answer:5.3/£4(2/1 /ﬂ./f’ /3( g: 3
|D:4.4.111/Z/g/: /> '(/Ar(/ //_ﬁv"\ uswit””

O[T )= T3] T &S’;B = _//)
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142, An artifact originally had 16 grams of carbon-14 present. The decay model A=16¢ = 0000121 jescribes the apapmt.of
carbon-14 present after t years, Use the model to determine how many grams of carbon-14 will be presen w
years.

The amount of carbon-14 present in 7822 years will be approximately | grams.
{Round to the nearest whole number.) — 0’ 000 / 2/ é

Answer: 6 ﬁ /éeﬂ
A~ /6 & /-0 000/2//7a’2a))

B ID451tA /‘; CoO 70077/3

_ 143. Prehistoric cave paintings were discovered in a cave in France. The paint contained 17% of the original carbon-14. Use
/

the exponential decay model for carbon-14, A= Aq ¢ plullenibal , to estlmate the age of the paintings.

The paintings are approximately years old. (Round to the nearest inte .// 7 / 0.0
—Q0ol? ¢ [ Sieha(o /0= S G2 Q001
17 bR 27 it

Answer: 14,644 7&9_‘ - /é -0, aUU/Z/é /])

ol 7 - 0:000/2/4— f j(.,/ 21 - -0, ol ¢
ID: 4.5.19 C) -0, 0u,d!1,((_ —Ofod‘—’(’l'l

—O, Wiz

144,

In2
Use the formula t=—— that gives the time for a population, with a growth rate k, to double, o answer the following

questions.

_I
The growth modgl A=6¢ 0.008! jdscribes the population, A, of a country in millions, t years after 2003.

a at is the country's gro rae\w ; O-00 C'é
. Whatis th try's growth rate? /2/:6(

I % 0,006 &
b. How long will it take the country to double its population? / ’L P gi
g /____——-——'
years (Round to the nearest whole number.) 6 6
G.006 €

Answers 0.6 2, — 6
A7) - AE
- b 2)< O ooce Are)
/24( 2) = 0,./00;/(4 /1)
(! O.J0E <

O,VO(L)
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145. Solve the given system of equations ]
ZZ] R B A A

x+y+7z=28
x+y +52=20 { 4 — Lo

x + 4y + 62 = 30 2 { Y & 30

Select the correct choice below and fill in any answer boxes within your chpice. }'V D /71 4 —L // >< %‘H—: vi, 4
—_ I/- P /

) A. There is one solution. The solution set is - —

{( . . )} (Simplify your ans
() B. There are infinitely many solutions. V l/7’
) €. There is no solution. [ "“‘a >
oy o
Answer: A, Qo |
There is one solution. The solution set is {(| i 2 4 )} (Simplify your
answers.)

(s we @ 2) - ( T)
146. Write the first four terms of the sequence whose general term is given.

"on+8 6('," [+ 3

a;= ] {Simplify your answer.) ( (Z ) / é
_ '/2____37)_. il _.Y— g : 4 - f—
a,= ! {Simplify your answer.) da - 2__(.3 / o ] (?/

a3 = ’ {Simplify your answer,) Z /3 ; / /
Z - |
=N =! | (Simplify your answer.)& 3 = ; - 6

ID:5.2.5

Answers% & o _—_Z_(Q__._ . X =
w
2
3

ID: 8.1.8

66 of 67 5.20:12019. 8:58 AM



MAI134FIESTACOREQI414READY 149-Alfredo Alvarez hetps://xlitemprod.pearsoncmg.com/apiiv | /print/math

147. — 5
Find the indicated sum. | Y kik+4)
B k=1
] [ (lr)—r 2(2-+y) 3(%v)T ¥ (ri) # () -
Z kik+4)= ! (Simplify your answer.) ﬂ 5, ) —

IS+ 2(6)F3(7) AT T
Answer: 115 g% /2—742(7’ 3(‘(’—(/&"_“

D: 8.1.33 @ éfh_Sbv—c’/

o —

_-_‘_-_-_-_‘_\_‘_'_"‘--\_
148. Use the bmomlal theo}ym to expand th&blno CEI

S () C—/v,/)rf) - C(%?f) C/ ,Y 5
(4x-1)° 3 . ~ FXf—1
(x-1)° = _/(égpgt;y{ur)ggv;‘)'(g//k ’\/Z)Kf) —f—(}/(%()//) Ff(//(//(() _

Answer: g4y3 - 48x +12x(1€¢)()//)7( 4 (/C{l)(') —rﬁ)/%()/) “(C(/// )~/ ) 2
\Qﬁé—{\/—

ID: 8.5.13 Q({ l?)(?"‘—/’/’&C ( )‘,___
149. Write thWnomlal expansuqn expressing the result in simplified form.

N

(x+5) = S—

The first three terms of the binomial expansion are
(Simplify your answer.)

Answer: 9 4 454 + goox’

ID: 8.5.31

(—(")(f)"‘ C(%)”r) + C(K)(f}
()[)////j* //ﬂ(”’y/f)f (5’///7)%0*_

| )/ —+ Y5, /OU)(
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